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5] BmMER ouT| IN GROSS | HDCP | NET %
1 ®A # 41 1 40 81 117.0/64.0
2 &K & 39 | 37 716 110.0/66.0
3 H2Lk =X 37 | 39 16 110.0/66.0
4 | K8 58p 39 | 34 13 16.067.0
> & IEW 43 | 39 82 115.0/6/.0
6 B W 42 | 40 82 15.0/67.0
JEPAY, - X 36 | 39 15 1 8.016/7.0
8 [l X5 42 | 40 82 14.0/68.0
9 Bl A 39 | 42 81 13.0/68.0
10 S+ =8 44 | 43 8/ 18.0/69.0
11 52 HC 40 | 43 83 14.0/69.0
12 B8 K8 41 | 43 84 14.0/70.0
13 st —HR 39 | 43 82 112.0/70.0
14 54X 5:3 42 | 38 80 9.0/71.0
15 [BH B, 41 | 37 18 1 1.0/71.0
16 HE XF 44 | 44 88 [17.0/71.0
17 FeH XK 39 | 41 80 9.0 /1.0
18 HR X2 42 | 45 8/ 116.0/71.0
19 FEM A 3/ | 43 80 9.0/71.0
20 ER =i 41 1 39 80 18.072.0
ANPN 43 | 43 86 14.0/72.0
22 @A)l #5h 46 | 40 86 13.0/73.0
23 ¥ BX 41 | 4 82 9.0 73.0
24 AKX =ik 42 | 41 83 110.0/73.0
25 X EE 45 | 39 84 110.0/74.0
26 XN #& 43 | 40 83 9.0 74.0
21 #/HT EX 41 | 42 83 9.0 74.0
28 thH {Esh 43 | 46 89 115.0/74.0
29 |HM Fsh 42 | 45 8/ 13.0/74.0
0 WA =2 40 | 43 83 19.074.0
31 U RF 43 | 46 89 115.0/74.0
32 HEHF Hz 3/ | 41 18 14.0174.0
33 |k OCH 49 | 43 92 117.0/75.0
34 IMER B— 44 | 41 85 110.0/75.0
35 =HE =EHf 40 | 37 11 12.0175.0
36 [HJIl BE 43 | 41 84 19.075.0
31 & & 45 | 45 90 [15.075.0
38 JtE =F 42 | 42 84 9.0 75.0
39 B/E EBZ 42 | 42 84 9.0]75.0
40 R FE 44 | 43 8/ 112.0/75.0
41 [RiIE X 46 | 46 92 117.0/75.0
42 #iE i 44 | 46 90 115.0/75.0
423 TR BF 42 | 46 88 113.0/75.0
4 B &EF 46 | 45 91 115.0/76.0
45 BEX B 41 | 44 85 19.0176.0
46 =H BE 39 | 50 89 113.0/76.0
47 0O F— 45 | 42 87 110.0/77.0
48 BEX BE 47 | 47 94 117.0/71.0
49 th# XK 45 | 48 93 116.0/71.0
50 M R\E 45 | 43 88 110.0/78.0
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ol /hgF B# 43 | 49 92 114.0//8.0

02 |Jilfp IEE 44 | 52 96 [18.0 78.0

o3 | KE 1EH 50 | 46 96 17.079.0

o4 BF IEfn 45 | 42 8/ 8.0]79.0

55 HE Eih 45 | 48 93 114.079.0

o6 it H—EB 48 | 39 8/ 1.0/80.0

o/ ¥ B o1 | 4] 98 118.0/80.0

o8 88 Hif 53 | 4] 100 | 18.082.0

9 %0 ¥ 53 | 48 101 118.0/83.0

60 $F F=X 51 | 50 101 116.085.0

61 HE HEF 53 | 46 99 113.0/86.0
 BE A EE 48 | 40 88 15.0/73.0
ER ERK EX 46 | 46 92 113.079.0




